PACIIMICAHVE JIBVMXEHVA TpaHCIOPTHEX CPencTB bopma N4
MNepesosumk:AQ "MNATO-1" MapupyT N 28
HamMmeHOBaHMe MapupyTa: npocnexrT Cosmuparenen - yun.Kpedenwspckass

|I'pa|Pe- |Briesp|Ornp. |OrMer |OrMeT | OTMeT | OTMeT | OTMeT | OTMerT |[Ipu6 . |OTnp . |OrMeT | OTMeT | OTMeT | OTMeT | OTMeT | OTMerT | [IpM6 . | Baesn|
| x| | w3 | HKIO |IOKIO-1|OKIO-2 |OKIO-3 | OKIO-4 |OKIO-5 |0KIO-6| KKI | KKI |[OKIO-1|[0OKIO-2|[0OKI-3|[0KI-4|[OKIO-5|0KI0-6| HKIOD | B |
| | | napka |Cosugn|®ecTtn |Bp .M |[1.lIo6 | 12cen |YA8 |BE.XmMme|Kpede |Kpede|E.Xme|VYA3 |1l2cen|I1.llo6|Bp.Mu|®ecTn|Cosug|napk |
| | | |aTe-31|Ba-sut | xXamn. |egs | TsI6ps | | nbHNL | NBO-5T | NBO-5T | IBHNI | | rs16psz | emel | xann. |Ba-m1| aTe-i1 | |

1 1C 5.00 6.00 6.13 6.26 6.40 6.54 7.04 7.17 7.40 7.45 8.08 8.20 8.30 8.44 8.58 9.11 9.25

1 1cC 10.15 10.28 10.41 10.55 11.09 11.19 11.32 11.55 12.05 12.28 12.41 12.51 13.05 13.19 13.32 13.46

1 1cC 13.50 14.04 14.17 14.31 14.45 14.55 15.08 15.31

1-1m obem: 9.40-10.15 (50 Mmu.)
Maw.uacwm: 1 cmeHa (nmk)= 10.01
pober (kM) : Ha MapmpyTe 1 cMeHa (mmk)= 225.0 O6mmiz c 0.0=263.0
HymneBoi mpober (kM) : 1 cmena (nuk)= 26.5 2 cMeHa (muk)= 11.5 O6umit=38.0
Kon-Bo pemicoB: 1 cMeHa (mmuk)= 5 2 cmeHa (mnk)=0 O6mee= 5

MapupyT 28 CeB0H BCeCeBOHHO Ccy660Ta IOCTOSITHHEIN

|I'pa|Pe- |Bresp|Ornp. |OrMer|OrMeT | OrMeT | OTMeT | OTMeT | OTMeT |[IpM6 . |OTnp. |OrMeT | OTMeT | OTMeT | OTMeT | OTMeT | OTMerT | [IpM6 . | Baesn|
|dmx |%mM | wms | HKIO |[KO-1|IOKIO-2|OKIO-3|[0KO-4 |OKI-5|0KOI-6| KKO | KKI |OKIO-1|[0KO-2 |OK[O-3 |OKIO-4 |IKO-5|0K0-6| HKIO | B |
| | | napka | Cosupn | ®ecTn |Bp .M | 3apeu|l2cen|YAS3 |BE.Xme|Kpede |Kpede|E.Xme|YA3 |l2ceH|3apeu|Bp.Mu|decTn|Cosugn|napk |

| | | |are-31|Ba-sut|xXann. |Hag | Ts6ps | | nBHNML, | NBL-51 | NBLA-ST | IBHNL, | | r16psa |Hast | xann. |Ba-mm1| aTe-i| |
4 21 6.15 6.40 7.03 7.16 7.16 7.40 7.54 8.07 8.21
4 21 8.30 8.44 8.57 9.11 9.25 9.35 9.48 10.11
4 21 12.55 13.20 13.43 13.56 14.06 14.20 14.34 14.47 15.01
4 201 15.10 15.24 15.37 15.51 16.15 16.28 16.51
Maw.vacs: 1 cMeHa (nuk)= 4.21 2 cMeHa (nmuk)= 4.21 O6ume= 8.42
Ipo6er (kM) : 1 cMerna (mmkx)= 90.0 2 cmeHa (muk)= 90.0 npober Ha MapuwpyTe= 180.0 O6umit c 0.0=226.0
HyneBon npo6er (kM) : 1 cMera (mmk)= 23.0 2 cmeHa (mmuk)= 23.0 O6umit= 46.0

Kon-Bo pericoB: 1 cMmeHa (nuk)= 2 2 cMeHa (nuk)= 2 Obumee= 4




MapupyT 28 CeB0H BCeCeBOHHO cy66oTa NOCTOSIHHBIM

|T'pa|Pe- |Briesn|Ornp. |OTMer |OrMeT | OTMeT | OTMeT | OTMeT | OTMerT | [Ipu6 . |Ornp . |OTMeT | OTMeT | OTMeT | OTMeT | OTMeT | OTMerT | [Ipu6 . | Baesn|
|dmx |%mM | wms | HKIO |[KO-1|IOKIO-2|OKIO-3|[0KI-4 |OKI-5|0KOI-6| KKO | KKIO |OKIO-1|[0KO-2 |OKO-3 |OKIO-4 |IKO-5|0K0-6| HKIO | B |
| | | napka |Cosup | ®ecTu |Bp .Mu|I1.11o6 | 12cern|YA3 |B.Xwme|Kpebe |Kpebe|E.Xme|YA3 |1l2cen|II.Ilo6|Bp.Mu|decTn|Cosup|napx |

| | | |aTe-31|Ba-sut | xXamn. |egsr | TsI6ps | | nbHNL | NBO-5T | NBO-5T | IBHMNI | | rs16psa | emsl | xann. |Ba-m1| aTe-i1| |
5 2C 13.35 14.00 14.23 14.36 14.46 15.00 15.14 15.27 15.41
5 2C 15.50 16.04 16.17 16.31 16.45 16.55 17.08 17.31 18.00 18.23 18.36 18.46 19.00 19.14 19.27 19.41
5 2C 19.45 19.58 20.10 20.24 20.38 20.48 21.01 21.24

O6enm 2 cmensi: 17.31-18.00 (29 Mmu.)
Maw.uack: 2 cMmeHa (nmuk)= 7.41
Ipo6er (kM) : 2 cMena (mmukx)= 180.0 O6uiz ¢ 0.0=203.0
HyneBoit nmpo6er (kM) : 2 cMeHa (nmmk)= 23.0
Kon-Bo pericoB: 2 cMmeHa (nuk)= 4

|I'pa|Pe- |Brlesg|Ornp. |OrMer |OrMeT | OTMeT | OTMeT | OTMeT | OTMerT |[Ipu6 . |OTnp . | OTMeT | OTMeT | OTMeT | OTMeT | OTMeT | OTMerT | [IpM6 . | Baesg|
|dmx |%mM | w3 | HKIO |[KO-1|IOKIO-2|OKO-3|[0KI-4 |OKOI-5|0KO-6| KKO | KKIO |OKO-1|[0KO-2 |OKO-3 |OKO-4 |OKO-5|0K0-6| HKO | B |
| | | napka |Cosugn|®ecTtu |Bp .M |[1.llo6|12cen|YAB |BE.XmMme|Kpebde |Kpede|E.Xme|VYA3 |l2cen|II.Ilo6|Bp.Mu|decTn|Cosug|napk |

| | | |are-31|Ba-sut | xXamn. |egsr | TsI6ps | | nBHEUL, | IO -5 | IO -5 | IBHAL | | rs26psz | emsl | xann. |Ba-m1| aTe-i1| |
8 1cC 9.40 10.05 10.28 10.41 10.51 11.05 11.19 11.32 11.46
8 1C 12.00 12.14 12.27 12.41 12.55 13.05 13.18 13.41 14.35 14.58 15.11 15.21 15.35 15.49 16.02 16.16
8 1cC 16.25 16.39 16.52 17.06 17.20 17.30 17.43 18.06 18.50 19.13 19.26 19.36 19.50 20.04 20.17 20.31
8 1cC 20.40 20.53 21.05 21.19 21.33 21.48
1-11 obenm: 13.41-14.35 (54 Munu.) 2-1 obexm: 18.06-18.50 (44 Muu.)

Mam.uack: 1 cmena (nmk)= 10.20

Ipo6er (kM) Ha MapuwpyTe: 2 cMeHa (mmuk)= 270.0 O6upmr ¢ 0.0=286.0

HyneBoi npo6er (kM) : 1 cMera (mmk)= 11.5 2 cMmeHa (k)= 4.5 O6upmi= 16.0
Kon-Bo percoB: 1 cMmeHa (nuk)= 6 2 cmMeHa (nuk)= 0 OBwmee= 6




|Tpa|Pe- |Briesn|Ornp. |OTMer |OrMeT | OTMeT | OTMeT | OTMeT | OTMerT | [Ipu6 . |OTnp . | OTMeT | OTMeT | OTMeT | OTMeT | OTMeT | OTMerT | [Ipu6 . | Baesn|
| dmk [smM | w3 | HKIO |IOKIO-1|OKIO-2 |IOKIO-3|IOKIO-4 |OKO-5|0KOI-6| KKIOI | KKO |OKO-1|OKO-2 |OKO-3|OKO-4 |OKOI-5|0K0I-6| HKO | B |
| | | napka |Cosup | ®ecTu |Bp .Mu|I1.11o6 | 12cer|YA3 |B.Xwme|Kpebe |Kpebe|E.Xme|YA3 |1l2cen|II.Illo6|Bp.Mu|decTn|Cosup|napx |
| | | |are-i1|Ba-sut | xXann. |egsr | TsI6ps | | nBHUL | NBO-5 | NBO -5 | NBHML | | r26psz| emsl | xann. |Ba-m1| aTe-i| |

9 20 6.40 7.30 7.44 7.57 8.11 8.25 8.35 8.48 9.11 9.25 9.48 10.01 10.11 10.25 10.39 10.52 11.05

9 20 11.30 11.44 11.57 12.11 12.25 12.48 13.11

9 20 17.00 17.23 17.36 17.46 18.00 18.14 18.27 18.41

9 21 18.45 18.59 19.12 19.26 19.40 19.50 20.03 20.26

O6en 1 cmernm: 11.05-11.30 (25 mmu.)
Mam.uacs: 1 cmena (nmuk)= 6.31
Ipo6er (kM) : 1 cMena (mmux)= 135.0
HyneBon npo6er (kM) : 1 cMeHa (nmmk)=
Kon-Bo pericoB: 1 cMmeHa (nuk)= 3

38.0
2 cMeHa (muk)= 2

2 cMeHa (k)= 4.16
2 cmeHa (muk)= 90.0
2 cmeHa (mmuk)= 23.0

O6mme= 10.47
npo6er Ha MapupyTe=
OBu=

225.0
61.0

O6upmr ¢ 0.0=286.0

Obuwee= 5




